CHAPTER 1 REVIEW ANSWER KEY

1. x=-5
_62
2. x—11
3. x=-23
4. x=0
7
5. x==
=3
-47
6. x=—"2=
=73
14
7. x=—
=13
8. N.S.
9. 10
10. $1722.60
11. 22,24 and 26
12. x>15
15
13. x>48
48
24
14. x<==
=13
24
13
15. -2<x<1
eﬂ—)
-2 1
16. w>-11
- + o

17.

18.
19.

20.

21.
22.
23.
24.

25.

26.
27.
28.
29.
30.
31.
32.
33.
34.

35.

36.
37.
38.
39.
40.

41.

42.
43.

3
X<39

<€

lw &
\

—_
o

71

$5,000

-1

3

0

undefined slope
y=3x+11

y=-2x+35
y=—%x+2

y=-5x+9

x=10

$53.75

11

(_3r O)

2,9)

N.S.

same line; infinitely many solutions
N.S.

44
2" 3

same line; infinitely many solutions
(5,3,0)

(-1, 7,-3)

35 hats, 65 party favors

not a function

is a function; domain: x € IR, x # 5, —%

is a function; domain: x € IR, x > -5
is a function; domain: x € IR, x > 4
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382  ANSWERS

44. a. 7 59.
b. 2h?* - 4h +1

45. a. or %

e

|
alo @
=
+
@]

46. a.

Y
\\

60.
2x* +1
x* -8
V3
_\/Z—y—h+\/y+h+1
V5
b. Vx* +2x* -3

49. (150, $21)

61.
50. $190; 360 chairs /
51. (a) 201 shirts; (b) $2; \
(c) (210, $18) /

<

47.

p oo o

48.

-1 .
52. p= 3001t 2; $0.75 each
53. 400 books; $18,000; $18,000

54. 77 jars; $237.50; $725

55. 10 students; $1,110 62. x>0, y20
56. (a) P=3.5x-310; X+y<65
(b) (88.6, $575.70) 10x + 6y 2 590
57. 0N
/ X
(59,0) (65,0)
58. 63. maximum of 40 at (0, 8)
/ minimum of 11 at (2, 3)

Pl

~




ANSWERS 383

64. maximum of 9 at (3, 0) 7. a. [95 3 b. [95 75
minimum of 0 at (0, 0) 75 5 :| [34 56:|
\\ 8. a.[25 15| b. c. [20 -10
K -5 2 -10 30 10 30
h 9.a.[1 8 47] b.[1 12 143
0 1 15 0 1 35
0 0 4 0O 0 8
10. a. __24
65. maximum of 15 at (3, 0) 14
minimum of -25 at (-5, 0) <
| L
b. impossible
c.[2 3 -7]
d.[2
ﬂ 3
/ X
11. (-4, 2,-4)
66. $325; 65 adults and 12. N.S.
0 students 13. (1+5a,1+a,a)
14. (1, 3,-4)
CHAPTER 2 REVIEW ANSWER KEY 15. (5,0,-2)
1 [-36 36 16. (a,3a+1,5-4a)
20 -36 . % %
12 16 17.47=17 1
|75 5
2. a. ({0 15 16| b.|15 -15 -8 (1 1 _1
4 0 13 2 30 -19 . o0 3
18. Al =|-4 -1 3 or -1 -6 9
3.a.|9 7| b.|0 6 c. |22 9 _% % _% -1 6 -3
9 8 14 16 13 5 )
0 -1
4. (12 2 0 19. A7! = L.
8 6 3 L4 4
-3 9 1 20. not possible; A is not a square matrix
21. DNE
5. x—.—4,y—'—1,z——2,w—2 22. DNE
6. a. impossible s .
b. 3x2 18 9 18 5 2 -1
c. 2x3 23. A= 1 -1 1o ll3 6 3
d. impossible -2 1 2 -4 2 8
e. impossible
f. 3x2 -18
g. 2x3 24. X =|11
h. impossible 12



384  ANSWERS

25. 71 -167 77 35 -86 42 37 -112 69 -7 -14 35 11. a. (2, 1)

26. DINNER IS READY b. x=2

27. 3 of Portfolio 1, 2 of Portfolio 2 and 1 of C. up
Portfolio 3 d. minimum

28. 29 mg food 1, 49 mg food 2, 22 mg food 3 e. none

29. 14 oz. peanuts, 5 oz. cashews, 5 oz. almonds f.

30. $18,000 from her sister, $26,000 from her
brother, and $36,000 from her parents

CHAPTER 3 REVIEW ANSWER KEY

+5
1. x= >
3
2 X=43 12. a. (5,4—9J
3. x=-2+V11 2 38
15 b. x==
4, x= 35 2
5. w=-1,3 c. down
6. x=3,-8 d. maximum
7. x=11,-3 e. (-2,0)and (5, 0)
8. y=—-6,7 f.
9. a. (-3,-4)
b. x=-3 //\
c. up
d. minimum ( \
e. (<3+V2,0)and (-3-V?2,0)
f.
13. a. (-1,-1)
\ ) b. x=-1
v c. down
d. maximum
e. none
f.
10. a. (5,2)
b. x=5
c. down
d. maximum
e. (5+V2,0)and (5-V?2,0)
f.




15.

16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

. (3,-4)
.x=3

up
. minimum
(1, 0) and (5, 0)

]
Y,

s a0 o

. (0,-2)
.x=0
up
. minimum
. (3,0)and (-3, 0)

)

p >

-0 A0 o

92256 square feet
580 boxes, $671,800
~231 or 1000 units
20 or 31 units

14 or 28 units

(4, $68)

(7, $294)

(177, $39)

(10, $24)

20; $8

a. 3

b. x=0, 2, -4

c. (0,0)

d. (0, 0), (2, 0) and (-4, 0)

: |

27. a. 4
b.x=-1,3
9
C. (O, §)
d. (-1, 0) and (3, 0)

28.

29.

o a

oange

OU‘_N

NV

3
.x=-4,4
O, 4)

. (4,0)and (-4, 0)

AV
)

4
.x=2,-2,6

. 0,2

- (=2,0), (2,0) and (6, 0)

ANSWERS

385



386  ANSWERS

30. a. 5 34.
b.x=0,1,-1
c. (0,0)
d. (0, 0), (1, 0) and (-1, 0)
e.
31.
35.
4

32.

33.

36.

o a0 o e I =T o B o

me a0 o

.xelR, x#4
.x=4

y=0

. (0, -0.75)

none

.xelR, x#0
.x=0

y=2

. none
. (-0.5, 0)

.xelR, x#2, -1

x=-1
y=1
0, 2)
(_2/ O)




38.

39.

g

™o

SN CIE-WN I~

me a0 o

y=0

. (0,0)

0, 0)

.xelR, x#12
x=2,x=-2

. down 3
Cleft 1

no

. no
. yes; vertical

o

N\

41.

42.

hoan o e a0 o

mean o

ANSWERS

up 5

. left 2
. yes; shrunk by half
. no

no

\

up 2

. right 1

no

. yes; shrunk 4
. yes; horizontal

TN

up 10

. left 3

no

. no
. yes; vertical
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44.

45.

46.

&

KO-V JC S

| e A

X+ x+

ANSWERS

none

. right 4
. yes; stretched 2
. no

no

CN2x+1-x+5

43

CV2x+11

—V2x+1
5

5
3

S

2402x+1+1

XA+ 2

0

X =20x+ 4

.|x2+3|—1orx2+2

-6
6

x4 6x% +12

x+1

.2

2(x* +2x+5)
(x+1)°
2
X +x+1
_28

3
60

X +3x +3x° +2x° +x

47.

48.

49.

50.

o o0

o

@ ™

X225

e a0 o n

2x 6

2x—-6

T 4x* —24x + 11

40
21
0

. 4x-18

3 +dx -1

.0

x -1

_x\/;—l
7-2

V3

26

Ix



CHAPTER 4 REVIEW ANSWER KEY

1.

2.

o

10.

11.

=22 -3

) - (3x); +1
frm = 3 ?‘Zw
Py = (yz_%
g (%) = ;/ﬁ
y'(x) = 72;31?‘13
2
) =1+ >
a. domainX = 1 f(0) = [2= 31

b. domain:x > -1; y™'(x) = 2(x + 1)°

_ 7-x
c. domain: X 2 0; h'(x) = \4/ >
4———0)/

0,3)

0,0

\ o1
Re-

12.

13.

14.
15.
16.
17.

18.

19.
20.

21.

22.

23.
24.
285.
26.
27.

ANSWERS

—_—] \io,z)

~
o
=

=

312x- 3x2
42x—2
RSX+1

(-36)*¢e*

2x-3
T V
e

52=25

domain: x <0

1,0}

389



390 ANSWERS

28. domain: x> 2 (5% — 2)
37. In| ———=
X
38. log (20)
A 39. logs (2x%(x% - 5))
40. 7.5
41. O
42. -1

43. x
29. domain: x>0 S

44, x
45. x=
46. w

48. x=5
49. x=2
50. x=6
51. x=9

30. domain: x>0

52. x = 1 2 —-0.9476

. _ 1
((\@,o) 53. x= 6_2
54. x=0,2

55.

31. domain: x > -1

. ~13 days

. $149.62

. ~5 units
58. 68.9%

59. ~4 years

60. ~64 years

61. a. P=14000e%93¢
. ~14866
2031

. $6077.53

. ~5.44 years

a
b
C.

56. a. 4
b

57. a

b

(0,0)

32. 4log(x* +5)-12log x

4 1
33. 21nx+§ln(x—1)—§1n(x+9) 62.

TP oo

34. 2log,(x+1)+3log.(x—2)+4log (x + 3)—log. x

35. log, (Lsél] CHAPTER 5 REVIEW ANSWER KEY
(x+5) 1. a. a,=3n-7;-4,-3,0
| [ P 3] b. a, =-4(3"1); -4, 12, 36

T, 1 11
o 237

36.
2. a. an=§n—2;



10.
11.

12.

13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
285.
26.
27.
28.
29.
30.
31.

32.
33.
34.

&

TP TP TP TR T

_1(5):1—1, 15 25

W22 'ra®

. a,=-2n+27; 25,23, 21
. a, = 25(=2)"; 25, -50, 100
.a,=6n-51,7,13
.a,=6"11,6,36

19.5

.3x 1011

-13.4

. =9,765, 625

38
-3
1024

12,720
-17,280
8,680
11,184,810

-4095

or -7.998046875

512
1559.098778
~5.68 years; ~4.65 years
$8,588.43
$29,017.96

$

1.57

8.16%; 8.3%
$16,174.52
$68,654.73
$1,974.60
$2,691.65
$352.97
~17.12 years
$936.68
$112,940.87
$6,013.67
$41,257.58
$2,506.91
$1,084.34

a.
b.
C.

$429.84
$25,790.14
$4,790.14

$284,839.65
$222,753.81
$1,202.36; $151,754.41

ANSWERS

FINAL REVIEW ANSWER KEY

N

»

o

10.
11.

12.
13.

14.
15.

. Al =

1

0

2 3 67
a. |3 4
6 1 6.

29 25
b [10 12]

(=52, -28, -6)
a. 295

b. 14,650
$6,069.44
$245,049.99

— o ko

a. f(x) domain: x < 1; g(x) domain: x € IR

b. g(f(x)) =2 - x; doma
f _V1-x

« <§>(X) X2+

N.S.

2 s
V= 3

y>_?x

~~~
N
N
B
Nlov
A

4
(4,0

inx € IR

bt

Q

Max P = 20 at (10,0)

a. P(x) =—x2+19x -84
b. (7,0) and (12, 0)
width = 25 ft, length =
a. (3,0)and (-1, 0)

b. (1, 4)

25 ft

391


macarthu
Sticky Note
#17 answer should be
$57.50
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16.

17.
18.
19.
20.

21.

22.

23.

24.
285.

26.
27.

ANSWERS

a. 3200 people
In 2
0.025
c. 3281 people
2*=32;x=5
x=4,2.5
330 units
about 720 feet

b. t= =~ 27.7years

5
a. xEIR,x;t—S,—E

b.xe R
c. 0

1
d.g
o L
"3

y-intercept: (0, 1), x-intercepts: (1, 0) and (3, 0)

$12,126.00
$701.90

28.

29.
30.

31.

32.
33.
34.

35.

36.

37.

38.

39.

40.

41.

(3 0 —4]
13 2 -1
b. not possible; number of columns of B doesn’t
equal number of rows of A
-1 -1 1
c.| 2 2 —1]
| -1 -2 1
solution exists; (1, 2, 3)
max of 16 at (4, 0)

22
a. x>6orx<—?

1
b. x=—or-11
Xx=Zor

500 bicycles

x=1,3

a. xeR, x#-1,1

b. 4x2 - 4x

c. (x-1)

d. x2-2x

x-intercepts: (3, 0) and (-1, 0);
y-intercept: (0, —-6); vertex: (1, -8)

18 Ibs of 7% nitrogen fertilizer and 9 Ibs of 13%
nitrogen fertilizer

a. x=95

b. x=-8

c. x=10

about 6.8 years

$@9.12
$ 1.69

9 3 13 5§
a.|6 4 6 6
3 8 8 -2

b. not possible; number of columns of B is not
equal to number of rows of A
[—4 9 -8 —2]
C.
-1 -3 7 0


macarthu
Sticky Note
#40 answer should be
$89,917.83


42.

43.
44.

45.

46.

47.
48.

49.
50.
51.

52.
53.
54.

55.

56.
57.

58.

ERHINER

35
b. [1 2]
c. (11, 4)
max at (0, 12) with P = 24
N.S.

1 5
V= _EX + E
a. -16
b. -2x%2 + 19x — 41
) =Vx-15+5
a.x=>0
b. x-intercepts: (-10, 0) and (30, 0);
y-intercept: (0, 150)

c. $200
q=20,p=9%10
2
a. x=4.4794
b. x =50
in about 35 months
$19,825.88
$294.07

1 -7 15
a.| 7 -2 17}

112 1 7

b. not possible; number of columns of A not

equal to number of rows of B

|68 20]
15 4 9
2,-1,3)

a. x = number of tables, y = number of chairs;
x=20,y=20
2x + 6y <1800
X +y <400

(0,300)
(150,250)
200

100 (400,0)

(0,0) | 100200 300400\

b. 400 tables and O chairs
a.y=-2x-3

b.y:—%x+4

59.

60.

61.

62.

63.

64.

65.
66.

67.

ANSWERS 393
-5+V13
a x=———
6
b.x=4,9
q=11,p=9%19
a. 0.05x + 0.1y =200 and x + y = 2500

b [0.05 0.1} [x]_[ 200}
"1 1 Jlyl [2500

c

. x=$1000, y = $1500
. x = # dark chocolate truffles,

y = # light chocolate truffles
x>20,y20

2x + 4y <1600

10x + Sy < 5000

(0,400)
200
z 22 (400,200)
100
(0,0) | 100200 300400 5% (500,0)

. 400 dark chocolate truffles and 200 light

chocolate truffles for $560 revenue

.X=6
.x=0,-1
. HA:y=0

_15 13)
0,1

. VA: x=-1

(CAY)

$1,053.35; $50,560.96

a.
. $58,576.09

oo

$54,736.73

$2 and $3; 2000 units and 1000 units

. max profit is $250 for 1500 units at a price

of $2.50 per unit
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68. a. not possible; number of columns of A is not

)

equal to number of rows of B

0

o|w |-

1

i 2
[ 8 4 12]
-13 -7

-1 1 10}

L0 9 -7

69.

70.

ceP o TP TR

x=35

. x=2
. $814.42
. $293,192.88

$143,192.88

. $827.79
. after 35 quarters (or 8.75 years)





